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13. America was

Section | English

My mother (a)/ hanged (b)/ my clothes (c)/ No
error (d)

You do not know (a)/ of him (b)/ leaving the town.
(c)/ No error (d)

The Principal made the boys (a)/ to do the sum (b)/
all over again (c)/ No error (d)

I went there (a)/ with a view to secure (b)/ the
entire procedure (c)/ No error (d)

He poisoned (a)/ him and (b)/ his own children (c)/
No error (d)

You should avoid (a)/ to travel (b)/ in the rush hour
(c)/ No error (d)

I am (a)/ confident of (b)/ to teach you (c)/ No
error (d)

I, you and he (a)/ have helped the poor (b)/ in the
slum areas. (c)/ No error (d)

One should (a)/ take care of (b)/ his house. (c)/ No
error (d)

. The three girls (a)/ love each other (b)/ in the
meeting (c)/ No error (d)

Directions : - Fill in the blanks

11. lam___ amovie.
(a) Watching

(b) Seeing

(c) noticing

(d) looking

. | have given her
(a) awork
(b) some works
(c) apiece of work
(d) many works

by Columbus.
() discovered

(b) found

(c) invented

(d) reach

14. We the picture on the wall.

(a) hung
(b) hanged
(c) hang
(d) hanging

. Prices during the war.

(a) raise
(b) risen
(c) rise
(d) raising

Directions — Choose the one which best expresses
the meaning of the given word.

. ABDICATE

(@) Join

(b) Search
(c) Advance
(d) Renounce

. EMBELLISH

(@) Employ
(b) Arrange
(c) Decorate
(d) Design

. DAMP SQUIB

(a) Insignificant

(b) An old technigue happening
(¢) Unsuccessful attempt

(d) Short, shrill cry

. ANATHEMA

(d) Religious Chant
(b) Pun

(c) Musical Subject
(d) Curse

. DEBILITATE

(a) Weaken
(b) Attack
(c) Surmount
(d) Destroy

. NEBULOUS

(@) Tiny

(b) Vague

(c) Insignificant
(d) Inadequate

. GENESIS

(a) Style
(b) Beginning
(c) Movement
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23.

(d) Relevant

INTRASIGENT
(a) Authoritative
(b) Impersonal
(c) Strenuous
(d) Unbending

. INTIMIDATE

(@) Mislead
(b) Misplace
(c) Frighten
(d) Demoralise

. PRISTINE

(@) Fresh
(b) Old

(c) Preserve
(d) Dirty

Directions — Choose the opposite word

26.

BAGGY
() Strict
(b) Compact
(c) Firm
(d) Tight

. BANAL

(@) Sincere

(b) wealthy

(c) Extraordinary
(d) Trustworthy

. STERN

(@) Violent
(b) Genial
(c) Great
(d) Crowded

. KINDLE

(@) lgnite
(b) Encourage
(c) Ignore
(d) Extinguish

. PRECARIOUS

(a) Dangerous
(b) Safe

(c) Cautious
(d) Easy

. FLACCID

(a) Upright
(b) Taut
(c) Uneven

TRISHUL DEFENCE ACADEMY
(d) Tough

. ALIENATE
(a) Gather
(b) Identify
(c) Assemble
(d) Unite

. PLACATE
(@) Embroil
(b) Antagonize
(c) Amuse

(d) Pacify

. EXONERATE
(@) Compel
(b) Accuse
(c) Imprison
(d) Boldness

. SANCTIFY
(a) Dedicate
(b) Patronize
(c) Venerate
(d) Pollute

Directions — Read the following passage and given
the answer

Democratic societies from the earliest times have
expected their governments to protect the weak
against the strong. No ‘era of good feeling’ can
justify discharging the police force or giving up the
idea of public control over concentrated private
wealth. On the other hand, it is obvious that a spirit
of self-denial and moderation on the part of those
who hold economic power will greatly soften the
demand for absolute equality. Men are more
interested in freedom and security than in an equal
distribution of wealth. The extent to which
government must interfere with business, therefore,
is not exactly measured by the extent to which
economic power is concentrated into a few hands.
The required degree of government interference
depends mainly on whether economic powers are
oppressively used, and on the necessity of keeping
economic factors in a tolerable state of balance.

But with the necessity of meeting all these
dangers and threats to liberty, the powers of
government are unavoidably increased, whichever
political party may be in office. The growth of
government is a necessary result of the growth of
technology and of the problems that go with the use
of machines and science. Since the government in
our nation, must taken on more power to meets its
problems, there is no way to preserve freedom except
by making democracy more powerful.
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36. The advent of science and technology has

increased the

(a) freedom of people

(b) tyranny of the political parties
(c) powers of the government

(d) chances of economic inequality

37. A spirit of moderation on the economically sound

people would make the less privileged

(@) unhappy with the rich people

(b) more interested in freedom and security
(c) unhappy with their lot

(d) clamour less for absolute equality

. The growth of government is necessitated to

(a) make the rich and the poor happy

(b) curb the accumulation of wealth in a few hands
(c) monitor science and technology

(d) deploy the police force wisely

. ‘Era of good feeling’ in sentence 2 refers to
() time of prosperity

(b) time of adversity

(c) time without government

(d) time of police atrocities

. ‘Tolerable state of balance’ in the last sentence

may mean

(a) an adequate level of police force

(b) areasonable level of economic equality

(c) a reasonable amount of government
interference

(d) areasonable check on economic power

Directions — Sentence Arrangement

41. Though he was only a child

(P) he often worked much harder
(Q) than was either necessary
(R) in order to please his parents
(S) or good for him

(@) PRQS

(b) PRSQ

(c) RPQS

(d) RQSP

. (1) There are many versions

(P) of a 15 ft. rope,

(Q) in which the magician

(R) of the Indian rope-trick

(S) firmly holds one end

(6) the other end of which he throws upwards
(@) PSQR

(b) QRPS

(c) RQSP

TRISHUL DEFENCE ACADEMY
(d) SPOR

. People
(P) at his dispensary
(Q) went to him
(R) of all profession
(S) for medicine and treatment
(@) QPRS
(b) QRPS
(c) RPQS
(d) RQSP

. Education is
(P) of the proper sense of responsibilities
(Q) the first need
(R) in a citizen
(S) for the development
(@ PQRS
(b) QSPR
(c) QSRP
(d) SQPR

45. To much of the world.
(P) which produces radio and television
(Q) it is science
(R) by airplanes and satellites
(S) and which conquers space
(@) RSPQ
(b) RQPS
(c) QRPS
(d) QPSR

Directions — Select the one which best expresses the
same sentence in Passive (or Active) voice.

46. He teaches us Grammar.
(a) Grammar is taught to us by him.
(b) We are being taught Grammar by him.
(c) Grammar is being taught us by him.
(d) We are taught Grammar by him.

. My uncle promised me a present.
(a) A present was promised by my uncle to me.
(b) I'was promised a present by my uncle.
(c) I'had been promised a present by my uncle.
(d) I'was promised by my uncle a present.

Directions — Select the one which best expresses
the same sentence in Indirect/Direct Speech.

48. The sage said, “God helps those who help
themselves.”
(a) The sage said that God helps those who help
themselves.
(b) The sage said that God helped those whose
helped themselves.
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(c) The sage said that God helps those who helped
themselves.

(d) The sage said that God helped those who help
themselves.

49. My friend said to me, “Has your father returned
from Calcutta?”
(@) My friend said to me that my father has
returned from Calcutta.
(b) My friend asked me if my father had returned
from Calcutta.

"HUL DEFzI C -+ CADEMY
(c) My friend told me that his father had returned
from Calcutta.
(d) My friend enquired me if his father had
returned from Calcutta.

Directions — Choose the miss spelt word
50.
(a) Committee
(b) Commetee
(c) Committe
(d) Comitee
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Section 2 General Intelligence

51. From which place is the famous bronze dancer

51. UTE i wAThT v Tt & gred g8 § 7

found?

(a) Harappa

(b) Mohenjodaro
(c) Lothal

(d) Kalibanga

. Under whose chairmanship the first council of
Jainism was held?

(a) Mahakashyap

(b) Sthulbhdra

(c) Vasumitra

(d) kshmashravan

. The Maurya king who was known by the name
'Amitraghat’

(&) Chandragupta Il

(b) Bindusara

(c) Brihadratha

(d) Ajatashatru

54. Who wrote the book Rehla Namak?

(@) Ibn Battuta
(b) Amir Khusro
(c) Hassan Nizami
(d) Minhaz

55. When was the All India Kishan Sabha formed?

(a) 1925
(b) 1930
(c) 1936
(d) 1940

(a) gIeaT

(b) HigeToilcsr
(c) olrerel
C)EIGIEEL

. SleT g3 HT ggelr INifa foraehr sregerar &

|91 85 7
(a) FETHIT
(b) T
(c) ag@AT
(d) &THTHTEA

. ag AT e S AT aF F Ser

ST ar
() Teadred gfad
(b) FeegER

(c) gesy
(OESIGNE

. Xgell HG s fhaa fordr 2

() FeaTsIcer
(b) 3R &
(c) gt T
(d) Heerer

.mm%%mawwmﬁgm
AT ?

(a) 1925
(b) 1930
(c) 1936
(d) 1940




. Thumri singer Girija Devi is related to
(@) from the Banaras Gharana

(b) Agra Gharana

(c) Grocery Gharana

(d) Lucknow Gharana

. Chapelli folk dance is related to which state?
(a) Uttarakhand

(b) Nagaland

(c) Odisha

(d) Chhattisgarh

. What is the name of the tallest shortest in Africa?
() Atlas

(b) Caucasus

(c) Materhorn

(d) Kilimanjaro

. Which one of the following European countries is
bordered by the Atlantic Ocean?

(a) Portugal

(b) Austria

(c) Finland

(d) Romania

. In which part of the atmosphere do all weather
related events occur?

(a) Stratosphere

(b) troposphere

(c) mesosphere

(d) ionosphere

. Where is the Great Salt Lake located?
(@) Iran

(b) United States of America

(c) Turkey

(d) India
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56. A AT ARG o Fwefa §
(a) TIRE W 4
(b) 3TIRT =T &
(ORERGIR G|
(d) TGS WA A

. TUeell il Jcd fhd Tod & FFTEA §
() IcarE@s
(b) =TS
(c) 3nfsem
(d) Sedrag

. 3T I ST ST DIET FHT FIT AT § ?
(a) TeeH

(b) T

(c) Acgfof

C)REIGLEEY

. PrafafEd guda e & & fhg v @
AT HcdifedT AGAER I o&l g‘é g2

(a) Geramer

(b) e

(c) TheTols

(d) JaTf=T

. g FrEeet @l gead agHse & R
HAseT H °fed gl g ?

(a) FAATIHSH

(b) &freTHSeT

(c) ALIHSA

(d) 3TT=HS

. IT Hre< o Fgl TaT § ?
() X

(b) TFT T IARHT
(c) IRl

(d) ARG




. Paris, the capital of France, is situated on the banks
of which river?
(&) Thames

(b) Sean
(c) Tiber
(d) Danube

. In which range is the Nanga Parbat peak located?
(a) Zaskar Series

(b) Ladakh range
(c) Karakoram Range
(d) Himalayas

. Satpura National Park is located at
(a) Uttar Pradesh

(b) Jammu and Kashmir

(c) Madhya Pradesh

(d) Chhattisgarh

. Pink revolution is related to
(&) Tomato production

(b) Prawn production

(c) Meat production

(d) food grain production

. Who among the following is known as the 'signator
of the Indian Constitution'?

(a) Fundamental Duties

(b) Fundamental Rights

(c) Directive Principles of Policy

(d) Preface

. Who among the following is the only President to
be elected unopposed?

(a) Giani Zail Singh

(b) Neelam Sanjeeva Reddy

(c) B D Jatti

(d) Fakhruddin Ali Ahmed
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62. B HT e IRT 5T 7 & Far

Ay g ?
(a) eF g

(b) et

(c) TR
(d) s=g&

63. 79T gad AT hg Hoft F g & 2

(a) SITERT Aofr
(b) oTE Ao

(c) FRIARA Foft
(d) feATer

64. TAYST TSI 3Tl AT &

(a) 3caR 9 H
(b) STFH AR
(c) ALY you H
(d) BecrEe &

65. I[elrell shifcl fohad Toeferd &

(a) THTCY 3c4iced
(b) S Scdree
(c) AT 3caTget
(d) @redrel 3cqreet

66. FFIfai@d H & fhd ‘HRAT AidersT &

HIATehaT el ST & 2
(a) Fifcrs FHdeT

(b) HAifod FRFER

(c) [Afa Agerss dea
(d) SIEATIeT

67. AFT A T HT thAT AUy Faia =

arel Irsgufd g7

(a) A= ST g

(b) e Follg IZar
(c) & 3 et

(d) TR Hell 3HEHG




68. Where is Dhyan Chand Stadium

(&) Lucknow
(b) Hyderabad
(c) Delhi

(d) Bangalore

. When and where were the first Commonwealth
Games held?

(@) Hamilton

(b) Paris

(c) Tokyo

(d) none of these

. The word gambit is related to which sport?
(@) Cricket

(b) Hockey

(c) Chess

(d) Volleyball

. Who was given the first Nobel Prize of India and
Asia?

(a) Rabindranath Tagore

(b) CV Raman

(c) Amartya Sen

(d) Mother Teresa

. Man Booker Award is related to
(a) Literature

(b) sports

(c) training

(d) All these

. The first woman to get the Jnanpith Award in the
field of literature is

(a) Hopeful Goddess

(b) Subhadra Kumari Chauhan
(c) Amrita Pritam

(d) Mahadevi Verma
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68. EUTeTdE EfeaH &al &

(a) oGS
(b) BerETe
(c) feeelr
(d) STk

. TUH TSHSA W e AR gl FAfSd

T i o ) s

(a) giAces

(b) IR

(c) SrFar

(d) 378 & @IS QT

. sg, AfFed fFg O & TeefIT § 2

(@) fohche
(b) glehT

(c) AR
(d) arensrer

. AR YT TR & GUH Al &R fhd

T arar

(a) Tdgary TR
(b) & & IHTT

(c) 3\ T aA

(d) FET 4T

. AT JI TESHR FFET §
(a) @TfgcT

(b) BT

ORIEE

(d) & Fsir

. Wi & &9 # AT JeEhR a= arell

SUH HAfgeT §
(a) 3memqof &

(b) gsteT HART TgTeT
(c) 3T WaH
(d) #HgTedT FAT




74. Find out the wrong pair from the following

(@) Army -7 Command
(b) Air Force - 7 Command
(c) Navy —3 Command
(d) Army —4 Command

. Who is the first Indian woman Air Marshal of the
Air Force?

(@) Punita Arora

(b) Harita Kaur Deol

(c) Kanchan Chaudhary

(d) Padmavati Bandaupadhyay

. Who was the first person to reach the North Pole?
(2) Robert Peary

(b) Charles Simonthe

(c) Yuri Gagarin

(d) Arthur Ash

. Which is the first country in the world to give
women the right to vote?

(@) India

(b) New Zealand

(c) China

(d) America

. Who is the first Indian to become the Chief Justice
of the International Court of Justice?

(@) Vijayalakshmi Pandit

(b) Nagendra Singh

(c) Dalveer Bhandari

(d) Nirupama Rao

. Ringgit is the currency of which country?
(a) Malaysia

(b) Indonesia

(c) Pakistan

(d) Philippines
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74. T 7 @ Td oA B BERA
(8) Tl VAT - 7 FHATA
(b) ATIHAT - 7 AT
(c) ST - 3 FATT
(d) TeT VT - 4 FHATT

. ATGHAT T TYH AR Aol TR AT
T ?

(a) e 3RRT

(b) gRAT SR 3T

(c) FaT TRy

(d) T Soqaredry

.mﬂ%gawqgaﬁraﬁqwaaﬁr?}?
(a) A&¢ =Y

(b) TTew A=A

(c) I amaTRaT

(d) 37 Ter

. ATFAT3 & AQITYFR S arelr faed &1 92UH

S HiT AT § ?
(a) AT

(b) =ggirels

(c) o=

(d) ARG

. HRTSET Ao & HEAT ~Ageier Fafat
el TUH JARAT HiT g ?
OREEEGEGICIES)

(b) el &g

(c) oAk ST

(d) f%uar T

. R fora cer &1 #JgaT &
(a) HIAAT

(b) SSATRIAT

(c) arferedreT

(d) fefordiea




80. Which scholar's famous work named Bharat

Durdsha is the work of?

(&) Sumitranandan Pant

(b) Bharatendu Harishchandra
(c) Mahadevi Verma

(d) Swami Dayanand Saraswati

. Joint military training exercise “Ajeya Warrior
2020” was carried out between which of the
following countries?

(d) India and United Kingdom

(b) India and Israel
(c) India and France
(d) India and United States of America

. The 12the edition of Joint Military Exercise
“Nomadic Elephant” in India was with which
under mentioned country?

(a) Australia

(b) Japan

(c) Thailand

(d) Mongolia

. Konkan naval exercise is conducted between which
two countries?

(d) India-Bangladesh

(b) India-Sri Lanka

(c) India-United Kingdom

(d) India-China

. International Youth Day
(a) 13 August

(b) 12 August

(c) 11 August

(d) 8 August

. Nathpa Jhagri Dadm in Himachal Pradesh is built
across which of the following river?
(@) River Godavari

(b) River Sutlej
(c) River Indus
(d) River Chenab
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80. HRA AN AHAH YiAg Hic fhe facame &

AT & ?

(a) giAATeesT Joct

(b) $Rclg gReTg

(c) #HgIed AT

(d) FGTHT EATeAE |IXEIAT

2020" FFITaf@d & O Fg U & &7 fhar

IAT AR
(a) ¥RT 3R FaArses s

(b) #RA AR RIS

(c) R IR W

(d) ¥R 3R TFFT ToT IARHT

. HRA & AgFT e 38 "gH T

1237 HEHRIOT Tohd 2 & AT AT
(a) 3ireeferar

(b) ST

(c) urSels

(d) FMforam

. BT ARSI T ar gt & 9

IrRAToIT T Sirar &2
(3) HARA-IFelTGer

(b) HRI-Hreiehr

(c) HRA-Feises fhersa
(d) HARA-AT

. JRISET gar feaw

(a) 13 3rTEd
(b) 12 3rTEd
(c) 11 3rEd
(d) 8 3mETEd

. ReAe weer & ArUar SR ged Reafaf@aa

H AP A | R
(a) NIy &

(b) TSI Y

(c) Ry 7y

(d) ReTe =Ty




. Mudiyettu is the traditional folk dance of which
Indian state?

(a) Karnataka

(b) Kerala

(c) Andhra Pradesh

(d) Maharashtra

. The book “War and Diplomacy in Kashmir” was
authed by ?

(a) C Dasgupta

(b) Khushwant Singh

(c) Anwar Singh

(d) RK Narayanan

. World’s teachers day is celebrated on?
(d) September 5

(b) October 5

(c) November 5

(d) August5

. Army day is on;
(@ 15 January
(b) 8 October
(c) 4 December
(d) 9 December

Which of the following dams is also known as
Maharana Pratap Sagar?

(@) Pong Dam

(b) Ukai Dam

(c) Thein Dam

(d) Koyna Dam

Which State of India shares the longest international
border with the neighbouring country?

(@) Jammu & Kashmir

(b) West Bengal

(c) Meghalaya

(d) Assam

Which state in India is the largest producer of Coal?
(@) Jharkhand

(b) West Bengal

(c) Maharashtra

(d) Madhya Pradesh
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. Al fFE ARAT TsT HT IRIRE e T
87
(a) FelcHh
(b) HTeT
(c) 3T ucer

(d) HERTSE

. J&® "aR Us oAl o1 HedR” fhaeh ganT
o 15 oA

(a) & grEeedr

(b) GerEa &

(c) 3TN g

(d) IRF ARTIUTA

. [aeg Ree Reg &9 Aa/=T ST 87
(a) FdsX 5
(b) 3rFgeX 5
(c) =IdsX 5
(d) 39T 5

. QT CaH & BT &
(a) 15 STeTadr
(b) 8 3R
(c) 4 fgE=R
(d) 9 feas}

. Tafaf@a & @ fhg arer &1 #AgRoT gdaT aeR
& AH F H ST ST 82
(a) 9ieT g@Ar
(b) 3T AT
(c) AT gH
(d) RIT grAT
. AT &7 ST TT I TSKAT 2 & T qad
e HARSERT HAT HIST T 872
(a) SFH AR HEAR
(b) IT¥TaH §IMA
(c) HgTeT
(d) 3T
. IRA FT HiT AT TSI PTG HI TGH 8T 3cAIGH
&2
(2) FREs
(b) af¥ger Semer
(c) HAGRISE
(d) #7ET weer




93. Which of the following rivers have almost the same

point of emerging?

(@) Tapi and Beas

(b) Brahmputra and Ganga
(c¢) Indus and Ganga

(d) Brahmputra and Indus

Where is Gir Forest located?
(a) Rajasthan

(b) Orissa

(c) AP.

(d) Gujarat

95. Which is the largest producer state of tea?

97.

98.

(@) Kerala

(b) Tamil Nadu

(c) Assam

(d) Andhra Pradesh

With which work is ‘Golden Quadrilateral Project’
associated?

(@) House Construction

(b) Road Construction

(c) Dam Construction

(d) None of these

Who discovered the sea route to India?
(a) Captain Cook
(b) Copernicus
(c) Kepler
(d) Vasco-di-Gama

Which city is called the city of Lakes in India?
(@) Udaipur

(b) Chandigarh

(c) Jodhpur

(d) Jaipur
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93. AT & & foh 718 &7 3 g

SITHIT AT g2
(@) amdr iR s
(b) SEHYT 3R
(0 g 3R amam
(d) SEAYT 3R Y

. T g FET g

(a) TSTEATT
(b) 3sraT
(c) T.OI.

(d) IoRTd

. OIT &7 e §8T 3cUiGeh Ao i AT &2

(a) HTeT
(b) dfferTg
(c) IFHEHA
(d) 3TTeT wer

. EuT aqes IR fRE F & el &

. AR & U FHEET A6t A @ier fhae e
(2) FedlT Feh

(b) SHIRAHH

(c) HTeR

(d) TERI-ST-ITAT

. ART H il &1 a8 5T 8T T Fgl SATdr

Y,

() 3eIAR
(b) TETG
(c) S
(d) SR




99. Which is not a state?
(@) Jharkhand
(b) Jammu & Kashmir
(c) Uttrakhand
(d) Goa

. Lakshdweep is located in
(a) Bay of Bengal
(b) Indian ocean
(c) Arabian Sea
(d) Within mainland
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99. leT AT AT Al g2
() FRTS
(b) STFH 3 AR
(€) 3cRIEs
(d) T

100 &TedT 3afedd &
(a) ST T @ISy
(b) feg FgrEmR
(c) 3N HER
(d) ACT A F MR




101.Mass of an object is 5 kg and density10°

is kg/m3. the volume of the object will be
(@ 5x107° m

(b) 5x 105 m®

(c) 15x 103 m?

(d) 2x107° m

102.Which of the following liquids has the lowest density

(@) clean water
(b) salty water
(c) petrol

(d) Mercury

103.The nail is made sharp at one end and wide at the other

end. this is due to

(a) be easy to catch

(b) the center of gravity is near the wide end
(c) keeping a balance

(d) high pressure at the burial site

104.1f the radius of a circular path is r, then the distance and

displacement covered in two rounds of the circular path
will be

(@) 4mr zero

(b) 2mr zero

(c) r,zero

(d) 6nr zero

105.A force of 100 dynes on an object of mass 5 grams takes

10 seconds. The velocity produced in the object will be
(@ 2cm/s

(b) 20 cm/s

(c) 200cm/s

(d) 2000 cm/s
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Science

101.frdT qE] H geTA AT 5 fRaT AT gdca 10°

foparm /a0 8| a&q &1 A gl
(@ 5x107° m®

(b) 5x10° m®

(c) 15x10° m®

(d) 2x107° m

102. fArafaf@a # & 5T ga #1 gdca a&ed
E
(a) TITB STl
(b) STHPIT STel
(c) g
(d) FIHRY

103.  Hrer v fAY W el FAT g Y W
S FA1S STl & | SHAN HROT §
(2) Tz H Flawm E
(b) I e =g A & a1 g &
(c) HeleT §aTT I
(d) IMSA aTel TUTHA W I JTF ofdr

104, THh gl 9 A FeAr r g, @ g gy
& ar Tt o A J gt dur faeras
HT ATl g1
(a) 4mr, A=A

(b) 2mr, q=A
(c) r, AT
(d) 6mr, =T

105. 5 9UTH geTAT AT Th ] T 100
SR T ST 10 Hehs oToh oFIcT § | a&q &
3coeT QT G
(a) 2 T
(b) 20 B+
(c) 200 ¥#FH/A
(d) 2000 |FH/A




106. The value of projectile angle for maximum
horizontal range will be
(a) 300
(b) 900
(c) 450
(d) 600

107.  On which of the following forces is the release
of cream from milk based?
() centripetal force
(b) gravitational force
(c) centrifugal force

(d) magnetic force

108. A driver first accelerates his car with a speed
of 1.8 m/s?, then accelerates at the rate of 1.8 m/s,
What will be the ratio of the forces exerted by the
engine?

@ 1:2
() 2:1
(c) 2:3
d) 3:2

109. 1 gram of weight equals
(@) 980 dyne
(b) 98 dyne
(c) 9.8 dyne
(d) 0.98 dyne

110. If the Earth attracts the Moon with a force of
1020 Newton, with what force will the Moon
attract the Earth?

(a) 10~ =geat
(b) 10 7gesT
(c) 10% =gt
(d) 10~ =gt
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106.  A¥HRaA &fasr wWa & fow gareT Hror
T ATl BT
(a) 30°
(b) 90°
(c) 45°
(d) 60°

107. g @ HH oo et & 4 food oo
R 3TaRa g7
(a) 3fFdheg ol
(b) eca el
(c) 3Ycheg &of
(d) ISR I

108. Ueh Tl 396l R & Jgo 1.8 HA/E 2
&I 31 @ caRd X g, B 1.8 #Ha® &1 &I
¥ afltd aXar § | §99 garT 3R Fat
I 3Tt T gram ?

@ 1:2
(b) 2 : 1
€ 2:3
(d) 3:2

109. 1 IH HR e gl &
(a) 980 3131
(b) 98 3T3eT
(c) 9.8 sI5eT
(d) 0.98 s

110. I gl TogAT @ 10 *° 7geeT oo @
I L 8, AT TogAT g & o g
T ST e ?

(a) 10 % =gea
(b) 10 7gesT
(c) 10% =ge

(d) 10 *° =geaT




111.  Gravitational acceleration with increasing

height

(a) grows

(b) decreases

(c) remains constant
(d) None of these

112. The physical quantity on which Kepler's

second law of conservation is based is
(@) energy

(b) Mass

(c) linear momentum

(d) angular momentum

If a person raises a DC body above the surface
of the earth, the work done by him will be
() positive
(b) negative
(c) Zero
(d) None of these

125 joules of work have to be done to displace
a body by a force of 50 newton by 5 m, then find
the angle between the force and the displacement.
() 600
(b) 900
(c) 800
(d) 1000

If a force f is applied on a body, the body
moves with a velocity v, then the power of that
body will be

(a) L
(b) fv?
(©) fv
(@ %
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111, &t 31§ & ATy I_cdld ca’or
() ST &
(b) Tear §
(c) FeR T &
(d) 17 & PIg QT

112.  #ifae wel, Fae @707 W e &
gfadiT foga 3maRd §, a8 §
(a) 3T
(b) geTATT
(c) &I "AT
(d) o Faer

113, Ifg g =afedd It s & gz & &g
q I & 3R 30T g, a 3Th anr fowar
IRAT H G
(a) TTlcHA®
(b) FoTcHS
(©) T

(d) 318 & g =7

114. 50 #gcof & ool @it ey [z &1 5 o
deh faEdiud e # 125 S[eT SR &L=l
ISl §, d9 g JAUT TAEATIT & 1T M HioT
AT FIfFA|
(a) 60°

(b) 90°
(c) 80°
(d) 100°

115. Ifg T g f frdlt W3 X o )W U3
v 39T ¥ a1fa &, ar 39 [Nz Fir afea gef
(a)

(b) fv?
(©) fv
(@ %




116. Samudra Samir is based on which of the
following method of heat transmission?
(a) convection
(b) conduction
(c) radiation
(d) (a) and (b) both

117.  The ratio of the frequency of external force for
resonance to that of the natural frequency of the
vibrating object will be
@ 1
(b) zero
(c) more than 1
(d) lessthan 1

118.  Sonar is mostly used for
(a) by doctors
(b) Astronauts
(c) by engineers
(d) by nine operators

119.  Which of the following is not a property of
liquids?
(@) they have flow
(b) they have a fixed size
(c) they have some mass

(d) none of the above

120.  Pure Matter
(a) produced by only one type of atom
(b) can be compound or mixture
(c) keep the goods composition
(d) is an exception to

121. The melting point of ice at atmospheric
pressure is
(a) 0°C
(b) 273°C
(c) 200°C
(d) 173°C
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116. g AR f@F 7 & la-dr FsaAT
Taror f fafy o¥ amenfa &2
(a) HagsT
(b) TTefet

(c) faferzor
(d) (a) and (b) both

117. 3o & AT aed 3nadl sor v angfa
dUT FFIA FA dlell TG I FATeTIfah
3Mgf I 3eqard g1
(a) 1
(b) T
(c) 1 & A+
(d) 1 8 &

118. TAR FTARIRIT: TATT F AT AT &
(8) STeFeRY E@RT
(b) 3eafkar AT garT
(c) FoNfa=RT ganr
(d) At FaTeTR EaRT

119.  3IA § Hed AT IOT gl H AT gl
() $TH SETT BT &
(b) SoTehT 3R AR grer &
() FThT FT GeTHAA Bl &
(d) 3RFT H & Pl AT

120. € Yard
(a) FIT TH THR F AL GaNT AT g
e
(b) 2 T TAHOT B b ®
(c) TTAT FEe 1WA &
(d) T 379are kel &

121, IgHSfo G W % & oA gl §
(a) 0°C
(b) 273°C
(c) 200°C
(d) 173°C




122.  Anode is Kirane
(a) Rinaino's current
(b) stream of positively charged particles
(c) electromagnetic waves

(d) current of electrons

123. A neutral atom is made up of
() proton only
(b) Neutron + Proton
(c) Neutron + Electron

(d) Neutron + Proton + Electron

124,  Which of the following features is a basic
feature of the modern periodic table?
(a) atomic weights
(b) Density
(c) atomic number

(d) none of these

125.  Li,Na, K
Arrange the above elements in the increasing order
of their metallic properties.
(@) Na, Li,K
(b) K, Na, Li
(c) Li,Na, K

(d) none of these

126.  The chemical formula of gypsum is
(@) CaCOs
(b) CaSO,. 2H,0
(c) CuSO,
(d) CaSO,

127.  The reaction of carbon monoxide with chlorine
to form carbonyl chloride is an example of
(a) decomposition reaction

(b) combination reaction
(c) displacement reaction

(d) decomposition reaction

www.trishuldefenceacademy.in

122. UAS R &
(a) Rargar & arT
(b) =ATafT FUTt Fr arT
(c) faega grahg aer

SO Y O

(d) Sl 6 GRT

123. U 3N YTATUN &= BT &
OESCRIFGE
(0) =g + ke
(c) ¥IgIoA + FelereTod

(d) Fggiel + Were + gelarerel

124, oo & @ &l @1 F&I07 YA e
HROM JTURST F&ToT § 2
(a) IATON H
(b) Teicd
(c) YTATUT ShHATh
(d) 377 & FIg el

125. Li, Na, K
SRIFT dedl T ek enfeash o7 & Fedl gV
FH H gafedd # |
(d) Na, Li,K

(b) K, Na, Li
(c) Li, Na, K

(d) 318 & I e

126. TooHA &7 TEE=S G5 &
(a) CaCOs
(b) CaSO,. 2H,0
(c) CuSO,
(d) CaSO,

127. el AANFASS HT Folllkel HI AT
ATRTHAT CART Fdifelcl FARTSS HI Felell
3CEROT §

(a) oSt fAfRar &1
(b) TISTeT FTRTRAT Fr
(c) TaTamaer afAferar
(d) 3r9gesT AfAfHAT &1




128.  Sodium*+ combines with CI*®and CI*’ to form

two samples of sodium chloride. What rule does it
confirm?
(@) Law of Conservation of Mass

(b) Law of multiple proportions
(c) Law of constant proportion

(d) none of the above

129.  Electromagnetic component in the reduction
process
(@) increases
(b) decreases
(c) remains stationary

(d) is zero

130.  When Cu reacts with Ag NO3 solution, the
reaction takes place in
(a) Oxidation of Cu
(b) reduction of Cu
(c) Oxidation of Ag
(d) reduction of No3

131. What is the percentage of nitrogen in the
atmosphere
@ 97 %
(b) 0.93%
(c) 78.09 %
(d) 0.039 %

132.Reaction HF + CH; COOH —
The acetic acid in CH;COO ™ + H, + Fis
(@) alkali
(b) strong acid
(c) weak acid
(d) None of these
133. A student obtained X gas by heating some
sulfur with a spatula. Which one of the following is
true about X?

(@) X, SO, and it turns wet litmus blue
(b) X, SOz and it turns red litmus
(c) X, SO, and it turns red litmus

(d) X, SOz and it turns dry litmus blue
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128.9f3ad + CI%° gar CI ¥ & §A91 & afsas
FANTSS & al AH Selcll & | SHPT Sefell fohdl
fage #r qie war g ?
(a) GTHATT TI&TUT &7 fAad
(b) IO e T FATH
(c) TR 3equrd 1 faza
(d) 3RFT H F P g1

129. 3r9=e forar A afeaedr saaa
(a) e &
(b) gear §
(c) TR TEar &
(d) YT gl &

130. ST Cu, Ag NO; [derae & aryr fohar #ear &, a9
AR &7 giar §
(8) Cu T 3iTerdIeRoT
(b) Cu T I
(c) Ag Fr 3TFHoT
(d) Nos FT I

131, agHSS H ASeIee fhet gfaerd @i §

@ 97 %

(b) 0.93%
(c) 78.09 %
(d) 0.039 %

132. 3fAfHAT HF+ CH;COOH —
CHsCOO™ +H,+F & tfafes 3 &
&R
ool 3T
gl 3Fd
g q IS AL
133. forelt faemet & Tager & Fo IiUF dcd Fh
XAgaea i | X & a) & Ar=faf@a & @
PlT - T TH TE & ?
(a) X, SO, 3R Ig A rewy & HAar T ar
3
(b) X, SO; 3R Ig e foecAw F1 T FT &t
3
() X, SO, 3 Ig P feHy = arel X T
J
(d) X, SO3 3R Tg v foreamq & el HT &l
J




134.The color of paper soaked in turmeric is obtained by
boric acid.
(@ brown
(b) Black
(c) blue
(d) red

135. Carcinoma arises from the
(@) Epithelial cells
(b) Bone Marrow
(c) Pigment containing Cells
(d) None of the above

136. Human Immunodeficiency Virus causes
aids by attacking a type of white blood
cell called

(@) CD4
(b) CD3
(c) CD8
(d) None of the above

137. Elephantiasis is caused by
(a) Filarial worms

(b) Flatworms

(c) Tapeworms
(d) None of the above

138. Stomach epithelial cells in the body secrete
(a) Hydrochloric acid

(b) Oxytocin
(c) Adrenaline

(d) testosterone

139. Night blindness and Xerophthalmia are
generally conditionsassociated with the
deficiency of which vitamin?

(@) Vitamin B

(b) Vitamin K
(c) Vitamin B2
(d) Vitamin A
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134.  gool & T FITeT F WM SIS 3o
CART T STl &
() T
(b) =premT
(c) =irem
(d) et

135.  SHITGAHAT oot BT &
(a) 39hell HITASRIT
(b) 3T ASST
(c) AT JFeT qouTeh
(d) 3ReFd &H q Fig 80

136.  EgH SFYAISTHRIGH dRRE Teh YR
I A Tk IR TN §HAT Hlch TSH &l
HRUT oIl § 99 el S1er &

(a) CD4
(b) CD3
(c) CD8

(d) 3WRTFd & F FIS 787

137. Torthfearfay frgs HROT gar &7
(a) PISARAT HIg
(b) Felcas
(c) &uamT
d) 3RFT F q FS A&

138. YRR H YT FI 3usmal FHIRAFT Frfad
EXGIN
OREEEGUECIRYTE
(b) 3terdreIfeT
(c) TSHATCISS
(d) TESEA

139. Tl 3R SRwUferar AR W R
Rrerfda #r @i ¥ S ReufeRr &
(a) Vitamin B
(b) Vitamin K
(c) Vitamin B2
(d) Vitamin A




140. Which one of the following are functional units of

food absorption.

(a) Red blood cells

(b) Small intestine

(c) Villi

(d) Aggregated lymphoid nodules

141.  The maximum amount of carbon
dioxide in the human body is
transported as:

(a) Bicarbonate

(b) Carbide

(c) Amylase

(d) None of the above

142.  Which part of the human body considered as
the part of Central Nervous System
(@) Kidneys
(b) Liver
(c) Brain
(d) Heart

143.  All enzymes are made up of
(@) Fat
(b) Protein
(c) Carbohydrates
(d) Vitamin

144.  Which is the most abundant gas of the
atmosphere?
(@) Oxygen
(b) Nitrogen
(c) Water Vapor
(d) Hydrogen
145.  The term “Ecosystem” was given by
(@) A.G. Tansley
(b) A.G. Frank
(c) E.P.Odum

(d) E. Haeckel
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140. TAFIfAf@d & & ST @Wieg raieor $Hr
HRiTcHE FHSAT &
(a) Vel T&Fd HITARIT
(b) BT 37T
(c) farelr
(0) T FrwEs s

141. AT R H FeaT SBIHTFASS Hr
3R aH AT T IRTET 50 IR &I &
() STSHIEAC
(OJEICIES
(c) TATSIST
(d) 3RFT H F FIS 81

142. AT WR & FF 3797 FT FaT df¥er
T T 3797 AT ST &
(@) I
(b) X
(c) ARETSH
(d) fewer

143. G veasH fREF I g1 87
(a) #rer
(b) I
(c) Hrsfgrsge
CRERIGE]

144,  argASH & TEH TR AT H I Dl
T g2
OIKIERISEE
(b) AATSEISTA
(c) Sfel arsq

(d) ETSZISTeT

145, ereg "oiRTEUfadr a3 fohaeh ganr fear
T AT?
(a) T ST el
(b) T St heh
(c) . . 3iIgH
(d) § ghel




Who is considered as the Father of Genetics?
G. J. Mendel

Hugo de Vries

Correns

All of the above

The “Cell Theory” is presented by the

M. Schleiden

T. Schwann

Bothaand b

None of the above

“Gene” is considered as the
(a) Smallest Segment of DNA
(b) Smallest Segment of RNA
(c) Smallest Segment of Ribosome
(d) None of the above
149.  Genes are responsible for the transmission of
character/trait from
(a) One generation to the next generation
(b) One cell to the next cell
(c) One chromosome to the next chromosome

(d) None of the above

150. The Ribosomes of the prokaryotic cells are
(@ 70S
(b) 80S
(c) 60S

(d) 40S
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146.  JTTATRIS &I STofeh fohd HIAT ST &7
(a) Sfr o A
(b) EZIN &
(c) I=H
(d) 3R Tl

147. "8l " fhEedh c@RT GEdd R arr
e
(a) TH| Felsd
(b) & LaTe=Y
(c) gt T 3R &
(d) 3REFT F T HIS G0

148. "G @I & T H AT AT &
(a) STTAT HT I BleT TS
(b) 3RTAT & HIH BICT TS
(c) TSNEH T FIH BT T3
(d) 3RTFT F A F 7

149. ST ¥ TRF/IETUT & HIROT & foIw
SFAeR ¢
(a) 3T WY & T v Wi
(b) THh el 39Tl Tl & foiw

(c) 3T AU & forw T IorgA
(d) 3RTFT H T FS AGT

. drRAes RIS & ISEAH §
(@) 70S
(b) 80S
(c) 60S

(d) 40S




